	

	http://www.cbseguess.com/


[image: image54.png]cbseﬁguess





Guess Paper – 2007
Class – XII

Mathematics 
Max. Marks: 100
Max. Time:3 HRS.

Note. Q.1 – Q.8 carry 3 marks each


Q.9 – Q.15 carry 4 marks each


Q.16 – Q.18 carry 6 marks each

Q.19 – Q.22 carry 3 marks each


Q.23 – Q.25 carry 4 marks each

Q.26 carry 6 marks each

Part-A

1. If 
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2. A problem in Maths is given to 3 students whose odd in against are 2:3, 3:5 and 14:16. What is the probability that the problem will be solved. 

3. A and B throw alternatively with a pair of dice A wins if he throws 6 before B throws seven and B wins if he throws 7 before A throws 6. A begins the game. Find the odds in favour of A.

4. Evaluate 
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5. Solve the diff equation 
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6. Solve 
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 and hence find the particular solution of 
[image: image7.wmf]0

dx

dy

y

=

=

 when 
[image: image8.wmf]0

x

=

.

OR


Solve 
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7.  Solve 
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8. If the system of equation 
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 has a non-trivial solution show that 
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OR

Solve using Cramer's Rule 
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                                                           Part-B

9. Using properties of Boolean algebra simplify the following circuit and draw the simplified equivalent circuit.

10. The function 
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11. Diff. 
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 Prove that 
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12. If 
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13. Using Rolle's theorem, find points on the curve 
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 where the tangent is parallel to x-axis. 

OR

It is given that for the function 
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 on [1,3]. Rolle's theorem holds with 
[image: image31.wmf]3

1

2

c

+

=

. Find the values of 
[image: image32.wmf]b

&

a

 if 
[image: image33.wmf]0

)

3

(

f

)

1

(

f

=

=


14. Evaluate 
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‘or’ 

Evaluate 
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15. Prove the following with the help of Mathematical Induction If 
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 for every positive integer n.

16. The cost of fuel for running a bus is proportional to the square of the speed generated in km/h. It costs Rs.48/hr, When the bus is moving with a speed of 20km/h. what is the most economical speed if the fixed charges are Rs.108 for one hour, over and above the running charges. 

‘OR’


A wire of length 25m is to be cut into two pieces one of the pieces is to be made into a square and the other into a circle. What should be the lengths of the two pieces so that the combined area of the square and the circle is minimum. 

17. Find the area of the region bounded by the curves 
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Using integration, find the area of the region bounded by the curve 
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18. If 
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 and hence solve the system of linear equation 
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Part-C

19. The diff. between the true discount and banker's discount on a bill after 3 months at 5% interest is Rs.100, find (a) The face value of the bill (b) T.D. (c) B.D.

20. A bill of Rs.8000 at 4 months was discounted for Rs.7904 on Aug. 10. If the rate of interest is 6% find the date on which the bill was drawn.

21. A manufacturer of screws knows that 4% of his product is defective. If he sells the screws in the boxes of 50 & guarantees that not more than 2 will be defective, what is the probability that the box will fail to meet the quality. 
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OR


Five dice once thrown simultaneously. If the occurrence of 3, 4 or 5 in a single die is considered a success, find the   probability of at least 3 successes. 

22. A firm anticipates a capital expenditure of Rs. 50,000 for a new car in 5 years. How much should be deposited quarterly in a sinking fund carrying 12% p.a. compounded quarterly to provide for the purpose.

23. If 
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, calculate AC, MC and prove that slope of AC curve 
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24. A and B partners sharing profits and losses in the ratio 5:3. C brings Rs. 96000 as premium and is admitted as a new partner of 1/5th share .Show how this amount will be shared by A and B, assuming that the share of C is contributed by A & B in their profit sharing ratio. Find also the new profit sharing ratio. 

25. A card from the pack of 52 cards is lost. From the remaining cards of the pack, two cards are drawn and are found to be hearts. Find the prob. of missing card to be a heart.

26. A dietician wishes to mix 2 types  of food in such a way that the vitamin contents of the mixture contain atleast 3 units of vitamin A and 10 units of vitamin C. Food I contains 2 unit/kg of vitamin A and 1 unit per kg of vitamin C while II contains 1 unit/kg of vitamin A and 2 units  per kg of vitamin C. It cost Rs.5/kg to produce Food I and Rs.7.00/kg to produce Food II. Find the minimum cost of such mixture. Formulate the above L.P.P. problem and then solve it.

----: END     OF     QUESTION      PAPER :----
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